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Full Marks : 60
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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x8=8
weTe fAIRA FicrEdl Ses fia

(a) Who of the following has been wrongly
listed as an advocate of the managerial
view regarding the nature of public
administration?

EIP-2PAd 23S o R
TSR oFel B SR @RS TP
Siferrpe 41 (2027

() Simon

R

A25/248 ( Turn Over )




(b)
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(2)

(@) Smithburg and Thompson
el S gore

(i) L. D. White
<. T8, zaizh

(iv) Luther Gulick
AN B

( Choose the correct option )

(= [RFwco qfk Sfenear )

Who of the following is regarded as the
father of Public Administration?

O (PRI @R-2 e fRoet o0
RalETE:

(i) Dimock
v

(i) L. D. White
. T, b

(iii) Willoughby
TR

(iv) Woodrow Wilson
TCH T

( Choose the correct option )

( wm et Afe Sferear )

( Continued )
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The term ‘scientific management’ for the
first time used by Max Weber / F. W.
Taylor / Vincent de Gournay / Louis
Brandeis.
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( Choose the correct option )

( wm s g Sferear )

The word ‘promotion’ is derived from the
Latin word ‘promovere’.

‘Promotion (“THERS)’ *™CB1 ‘promovere
(¢omEaTer)’ TS (o X9 o[ SRR |

( Write Yes or No )

(=0 ¢ == foran )

“Women have been hidden from

history.” This was said by Simone

de Beauvoir / Sheila Rowbotham /
Mary Wollstonecraft.
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( Choose the correct option )
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2. Answer the following questions (any six) :

() What is meant by ‘3E’ in public
2x6=12

management?

CIF-TRFTS ‘3E’9 & @ 2

T 2PIERR Teq frar (R ciean =)

fa) Write two principles of human relation

: th A
(6) There is provision for organization of oy
Public Service Commission in the Article T i O 1 A fo< |
315 / 316 -
COnStitution/ 321 / 322 of the Indian (b) What is meant by ‘politics-adminis-
5 tration dichotomy’?
SIS R 03¢ /9% [ 9yd / 9y N ’
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x .
( Choose the correct option ) (c) ziinmon two obstacles of good
ernance.
(o fsiecon Atz Tferean )
-2PTE K51 141 S |
h .
" :’;};::; 0;1'3 of the following is not an (d) Mention two problems of personnel
Ol overlappi : ’ administration.
Prizmatis oL Pping feature of Riggs
. a model? R epPTe o1 ST A P
RIS« S =
S e z:ﬁ:ﬁj;l@ Bl SeETd fe) Write two merits of seniority principle.
fem "
; H |
() Nepotism / = CORR i SRS
2 g Ao i
(1) POIY‘COmmun alism ) - () Write two differences between new
(i) Formalis TQ; ] ' public management and new public
(iv) Poly-n ™/ S ~ service approach.
“Normativj
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fg) Write two human aspects of scientific
management.

(Il IR o1 Twar e e

(h) What is new public administration?
Tl (AR~ 6 2
(i) Write two similarities between

public administration and private
administration.

BIFIAl 2P S (@O e e 4
ol I o |

() Mention two aspects of Max Weber’s
bureaucratic theory.

¥ @RS SEETeiEe wed 7ol e Seard
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3. Write short notes on the following (any four) :
5x4=20
wore frATaEe gee 5 (Gl forn (R cieen wifsn)
(a) Neutrality in public service
IR -CRI® ool

(b) Evaluation of scientific management
theory

CTEI <AfRTeT oG JEE
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(e)

(g)

v
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(7))

Feminism in public administration

(EF-2PTPS T

Importance of public administration in
modern State

YT B (FF-LPFE BF]

Disadvantages of indirect method of
recruitment

TR AT Ao SICIRIRR

Differences between integral and
managerial views of public
administration

-2 e B o AROErEe
RS T NLTPFR

Features of good governance

-epPTR (AREPTR

Henri Fayol’s classical theory
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4. Answer the following questions (any two) :
- 10x2=20
o IR T fran (R e o) -

(a) What is public administration? Discuss
its growth and evolution as a discipline.

2+8=10

CIe-2pPH 2 SR R Rone =e
TS O Rt wgermer 3047 |

(b) Critically evaluate the human relation
theory.
TR o ST SO T 1 |

{¢) What is training? What are its kinds?
Discuss any one of it 2+2+6=10
afrra o 2w R R we @
CRICT GO REe eicetioe <se |

(d) What is

‘ new  public management?
Discuss its salient features, 2+8=10

T R R R S

AP e <5 |

(e) Evaluate the ecological approach of Fred

Riggs.
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